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There is only one correct answer for each question.
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e A / SECTION - A
wasdis 1odl 20 8. sl 1 9 8.
Question No. 1 to 20, Each of 1 Mark

545 Sl uHa QLA WS dhkl <l 9paiiiz.
The ratio of dhkl for face centred cubic lattice:

@ 1.1 .1 b L. L. 1
Lood 1 1.1 1

A d ol 25025 AHAA sets AL sletd L 58 8.

(@)  olielsds 59l (b)  HicdRsas sivl

(c)  WRlddd slol (@ 2l siwl

The angle between any two faces of the crystal is known as ............. :

(a)  Outerfacial angle (b)  Interfacial angle

(c)  Reflection angle (d)  Glancing angle

Gri®dl 2N ool Wliove, .................. 9,

Compound formed under excited condition is...........................

(a)  WHe, (b) Ar6HO

@) ~=BF, (d)  Ar.BF,

Xe+F, Norc Ay ged?

25,1 What is A?
(@ XeF o e
PSAR) . XEE, (d)  XeF,

LR Wz Ul Yo,

Chemical formula of sodium perxanate:

(a) NaH xeQ b (b)  Nall x eO,
(¢c) Na,xeO, (d) Na, xeF,

RAN-1803000201030021-B | [2] [ Contd.
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10.

wifaun Haidedied G drumid srY s2di 565 dlusy wa 8.
Which product 1s obtained when ammonim meta-vanadate is heated at high

temperatuce?
(a) VOSO, (b) V,0,
(c) (NH,), xVO, d V,0,

deifsunel] 1400° A, drurid c1Eiglor 28l ulsu szl g eid 97

(a)  widudl e1g1s (b)  Heidliors SiE5g1es

(c) el elefgies (d) sl eoiss

What will be produced when vanadium reacts with hydrogen at 1400° C?
(2) Interstitial hydride (b) Covalent hydride

(c) Molecular hydride (d) Ionic hydride

cAlaldl Ul s viauely 2idior< <] ?

Which is not interstitial compound.

(@) VI, (by VN
¢y VC (d) Vv,

NO, + CO — NO + CO, Hi2 Ulsuidoid, A1z ¥yt 83 97
Which is the correct rate of reaction for NO, +CO - NO + CO,

(a) 99 (Rate) = — % (b) 92 (Rate) = + d [SIO],
(¢©) 99 (Rate)=— % (@ 41 (Rate) = ﬂ%
utigell viletor ARl giovdlui yesHal ulsur =i ... 9.

(@)  uay suedl ulsu e »upasdr sl

(b) My suedl Ulsal 8 vulEsdL o

() [adlu suedl ulbun 208 2uldsal s

@ ladl suedl ulsu 218 suleasdr a

Inversion of cane sugar in presence of mineral acid 18 ......oovee.n.... :
(a)  First order reaction with molecularity one

(b)  First order reaction with molecularity two

(¢)  Second order reaction with molecularity one

(d)  Second order reaction with molecularity two

063

RAN-1803000201030021-B | [3] [PTO.1E



11, A+B+C > <lusy it ulsi we ulsut dot = K[A]% [B]% [C] €
ulsuidl 53,
A + B+ C -» product. The rate of this reaction = K[A] [B]/ 3[C].
The order of reaction 18 ......cccovvrnens
11 5
@ & ®) 7§
(c) 3 (dy 1
12, falu sudl ulsa wie sl ( ) [z aun (1) <l 2udv 2l 2u yal 9.
dell 3l He:
A straight line is obtained in the graph of concentration (—16) versus time (t)
for second order of reaction. The value of its slope:
@ P O
(¢) K @ K -~
13, wueaidisrs Blovael a2dl 203 s4.
Correct decreasing order of covalent radius:
(&) F>N>B> Li (b N>F>Li>B
(¢ Li>B>N>F (d B>Li>F>N
14, izl sidl B Al udl 97
Which of the following has smallest radii?
(a) Fe" (b) Fe''
(¢c) Fe’ (d) Fe'
15, ARun sul il arls salld 20l 87
(a) sl dlel () ad Ruw
() o @ Hoovdl
Which characteristic colour flame does barjum impart?
(a)  Light Green (b)  Crimson Red
(c)  Yellow (d) Brick Red
RAN-1803000201030021-B ] [4] [ Contd
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16.

17.

18.

1.

20.

RAN-1803000201030021-B ] [5] [ PT.O. ]

vieglesHy g usied 5895 arBisal gzid 97

(a)  ylld aga [og b  clarell [Ruffaa

(c) s el 2usR (d)  uHelEs o

Which characteristics do have in amorphous solid?

(a)  Sharp melting point (b)  Regularity of the structure
(¢)  Definite geometrical shapes (d)  Isotropic properties

sl ugid B ondT opiasd a1adl «4#l?

(2)  ilsum seiRiss : (b)  ols
(c) 20R (d) g
Which substance do not exhibit anisotropic property?
(a)  Sodium chloride (b) Ice
(¢)  Rubber (d)  Sugar

sl uge] Aewidiors w5l2s Al ?

(@) Rl (b) Y5l oy
(¢) s . @ [Rilas
Which substance 1s not a co-valent crystal?

(a) Diamond (b) Dryice
(¢) Quartz (d)  Silica

sal wules weondldl usiz «?

(@)  ueAMlors 2525 (b)  dsHllidg
(¢) zeivoliléga ) 2rbBalas
Which is not a type of crystal system?

(a)  Co-valent crystal | (b)  Hexagonal
(¢) Rhombohedral (d)  Triclinic

Relvotldgal AUHaAH] 2elld dots 24 vl yel,

The value of length and angle of axes in Rhombohedral cubic is:
(a) a=b#c; a=pF=90 r=120° .

by a=b=c; a=5=r=90

(¢) a=b#c; a=F=r=90

() a=b=c; a=p=r#90
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ficor B / SECTION - B

-

wssdis 21 4l 35 9. sl 2 A% B,
Question No. 21 to 35, Each of 2 Marks

21, XeO,, XeOF, #a XeO,F, »1gui Xe wrHg] w2 »iset Selszld Y] 2ivl

Number of lone pairs of electrons on Xe atoms is XeO,, XeOF, and XeO,F,

molecules are ........... respectively.
(a) 3,42 (by 3,2,1
- iyl @& 2,3,0

22, d-mizl 215l XeF, 214 XeOF, Wi dhelles] 205201 54, 97
Which of the following hybridization of xenon in XeF, and XeOF, respectively?
(a) Sp'd’, Sp’ (b) Sp’d’, Sp’d’ -
() Sp’d®, Spid (d Sp*,Sp'd

23, <[l ulsumidl vodl dluse A td B wilal,
Identify the product A and B from the following equations.

XeF, +3H,0 - (A} + (B)

(@) A=XeO, B = 6HF
(b) A=XeHO,F, B = 4HF
() A=2Xe0, B = 4HF

(d) A=XeHOF, B =2HF
24, AR Rendl 4 T 14 viiel @l w2 CF avll, 2l sl Bsed il 897
@ V0, a0 3ud 2l € 8.
(b)  Adleun viqeilsu 2 H1d 8.
(©  dfuudl Gudia el 2rumers olb e .
@  AARuy “Bra-die” R gl cdiqami aur 9.
(a) TTFT (b) FTTT
(c) TFIT () TTTT

RAN-1803000201030021-B | [6] [ Contd. &,
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26.

27.
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Write T for the correct sentence and F for false sentence, which of the given
options 1s correct?

(a)  V,0,is Red or Orange is colour.

(b)  Vanadium is paramagnetic in character.

(¢)  Vanadium is used as a scavenger in metallurgy.

(d)  Vanadium is used in making Non- ferrous alloys.

(ay TTFT (b) FTTT

(c) TFIT (dy TTTT

Al,(S0,),, VOSO,, UO,SO, %ist Fe, (SO,), <il Mzt siagimi 2iifkun
stolid2 GHZl stagld Gsludi il 2198y Yo §?
Whose precipate are formed when sodium carbonate is added and boiled in
mixed solution of A1, (SO,),, VOSO,, UO,SO , and Fe, (S0,),.
(@) Al (OH), + Fe(OH), + VO(OH),
(b) Al (OH), +V (OH),
(¢} Al (OH), +Fe (OH),
(d)  Fe(OH),+ U(OH),

Q

[actls suell 25 w5t (sl a=b) 30 Aswsui 25% yol ar B, v ulkal 75%
yel gal 12 dedl 3wy Qi ?

(a) 270 [lq2 (b) 4.5 [

() 900 [fae (d) 450 [@laz

Second order of reaction (where a = b) 25% of a reaction is completed in

30 second. How much time will it take to complete 75% of a reaction?

(@) 270 Minutes (b) 4.5 Minutes

(¢) 900 Minutes (dy 450 Minutes

[cfla sl Uzl dol-210isd yeu 0.333 2R, Hid? Rzt §. ulbusd)
132l Aigdl 0.1 M €l dll 214 a1w w3 2191,

(a) 30 [Bfqe by  2.08 [lqe

) 15 [faz (d 6.9 [lqe

The rate constant of second order reaction is 0.333 lit. mole™ min™. If the
initial concentration of a reactant is 0.1 M then calculate half life period.
(a) 30 Minutes (b)  2.08 Minutes

(¢) 15 Minutes (d) 6.9 Minutes

P0063



e ————

2%

30.

28.

RAN-1803000201030021-B ] [ 8] [ Contd.

e — — ————— —

0.1M #1222 244 0.1M NaoH 924l uBuidl 401 210 6.0 x 107 Hig Ages!

¢l dl 90% wlwerd evaldciord al o/3d] ... . [,
(a) 540 (b)y 450
() 200 (d) 250

The velocity constant of a reaction between 0.1 M ester and 0.1 M NaOH is
6.0 = 107 lit. mole™ sec™. then the time required for the hydrolysis of 90%
esteris ..... Minutes.

(a) 540 (b) 450

(©) 200 d 250

AR Q81 M2 T 204 vil2) Bl 12 CF gufl, 2l 4 Rsey il 87
(a) Beo »isl A1, 0, oisd Gop apgisl 8,

(b) LiALH, Moln Resaesdl 8.

(c) whiesal dediMi Cs* e {91l viie] srepilfByd B,

(d) BeH, 2A4elld 21 2UEZA5AT 9.

Write T for the correct sentence and F for false sentence, which of the given
option is correct?

(a) Beo and A ,O, both are amphotric.

(b) LiAlH, is strong reducing agent.

(c) Cs" ion has lowest hydrating in alkali elements.

(d) BeH, is ionic and oxidising agent.

(a) TTFF (b) TFTF

(¢) TTTIF (d TTFT

AL [l W2 T i vilal [ W2 P el 2004l sl Rsey wiEl 67
(@  u4edl Gurel I Ry dcdldl digopor 4 8.

(b) il WRUIG, sHisell qBRL A drelldl wgaeL afl B,

(€) UMl WRHIY] sUisel 99R1 W8 drdle 55 adl B,

(d)  Be vid Mg «li 5féisgiql oltieli Heul e 8,

Write T for the correct sentence and F for false sentence. Which of the given
options is correct? ‘
(a) The metallic properties of element increases from top to bottam in group.
(b) In a period with increasing atomic number metallic properties also increase.
(¢) In a period with increasing atomic number volume of element also increase
(d) Electron affinity value of Be and Mg are zero.

(a) TTFF (b) TFFT

(¢) TFTF (d)  FFFT
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33.
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35.
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2ses W2 Sy Yasisd qed -3, 2, 2 € dl Mer yausis AL

(@ (2,33) ®) (2,3, 3)
© (23,3 d (2,3,3)
If the value of Weiss indices is -3,2,2 for crystal then find miller indices:
(a) (2,3,3) (b)) (2,3, 3)
© (2,3,3) d)  (2,3,3)

NaCl g5 Sl uuad Al t1d 8. o4 unadd] tir-l douss 5.64 A” lu

Al dyggy = eeereereeriinns

Nacl has a face centered cubic lattice. If the length of the cube edge is 5.64 A°
then d ;=

(a) 128A° (b) 1.99A°
©) 282A° d) 325A°

X —[520il+{] ci2o1otieS 0.581 A” 8. NaCl «l d - duda urell 4° 547 1 vl
HAH e WU AL B, dl d ) = e (sin 4°54"= 0.0854)

Wave length of x-ray is 0.581 A°. the first order reflection for d plane of
Nacl is at an angle of 4° 54', Then 2 A E— (s1in 4°54'=(.0854)

(a)  2.401 A° (b)  3.402 A°
(€) 3.204A° (d  1.371A°

X —[aiidl dRadoitsS L = 14" 8. X - (0l Gl 51 widdd 60° vl
A 8. wgleset ol udlall udd a2Ad ez : .. (Sin 60" = 0.866)
Wave length of x-ray A = 1A°. The second order reflection for x ray is at 60° .
The distance between the two neighboring planes is. ... (Sin 60° = 0.866)

(a) 1.15A° (b) 2.00A°

()i =dlBDaAS | (d) 0.577 A°

s 25(2setl e~ well vl sleL 0 = 8.4°, 2lsed iz uadli »idz
0.400 nm ¥id g5 [acdly sud wiadd sdq wd 8. o - Greldl diadens
s2dl €47 (Sin 8.4° = 0.146)

In a crystal from x-ray gives a reflection angle 6 = 8.4°. Inter planer distance
of crystal is 0.400 nm and only second order reflection is observed. What will
be wave length of x-ray? (Sin 8.4° = 0.146)

(a) 1.156A° (b) 0.784A°

(c) 0.684A° (dy 0.584A°
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(A)
©)

(A)
(©)

(A)
(©)

(A)
©

(A)
©
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[Aeor A / SECTION - A
us sHls 1odl 20 9. Rsdl 1 oo 9,
Question No. 1 to 20, Each of 1 Mark

HASs BIB1S su1 UsRAl dHa2sdlL cufd 97

UL AHE25L (B) Al AHL2sAL
SlaRQM UHU25AL (D) AU43Usl

Maleic acid shows which type of isomerism?

Optical isomerism (B)  Geometrical isomerism
Structural 1somerism (D) Tautomerism

ARofloy RSl AlluH gl ovelly glagld, [Gedldeiord sdd G ek

oieidiel] utsildd .............. sed 8,

usld utald B)  g9éx utald

[$sq uttla (D)  sieol ueald

The electrolysis of aqueous solution of sodium salt of fatty acids for the prepara-
tion of higher alkane, is known as ...... method.

Perkin method ‘ (B) Wurtz method

Dieckmann’s method (D)  Kolbe method

AsAibeeeedl [Badd S 4 e
24° 441 (B)
0° 441 (D)
The angle of deviation of Cyclopentane is .......
24° 441 (B)
0° 441 (D)




4. [Alzaallazued] <d gRi Arsaizichdd a8 uHgL Huadl sdl GElus quri 97

(A) MnO, (B) Pd
(C) Nickel (D) MnSO,
‘  Tn Wislicenus method, which catalyst is ﬁ‘sed for increased the yield of
cycloalkane.
. (A) MnO, . ®B) Pd
(C) Nickel ®) MnSO,
5 QRS e Ay ML) BRI 6.
(A) ilsor+ (B) &R
(C)  «ef2lorel (D) ol
Thiophene contains ...... hetero atoms.
(A) Oxygen (B)  Sulphur
(C) Nitrogen | (D) Boron
6. uriRldd {dsa Gelusl slov<lHi sisfgiore ary 218 200° C diusied 2RY Sl
e youefl «flusy .............. -
(A) wuRldld B) [Mudlélq
(€) 11 1§l wuRid (D) 22l a1l wuRid

The reduction of Pyrrole 1s carried out in the presence of nickel catalyst with
hydrogen gas at 200°¢ temperature, the product is.................. .

(A) Pyroline (B)  Piperidine
(C) Dihydro Pyrrole (D)  Tetra hydro Pyrrole
7 [USleett 2154 2i2uga yalledl vl ...
@A) 4 ®) 7
& s D) 6
The number of possible resonance structure of pyridine are .. ..
6y - 4 ®) 7
&S ‘ , D) 6
Z :

td. £ RAN-1803000201030022-D ] [3] [PTO.1&
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8. a1 Resaiet [sa Gfus<l] ciolui 200° 2 drusis 155l Ay, 018
sl 4ol dlusy oo :
(A) THF (B) SBR
(C) INT (D) NBR
The reduction of furan is carried out in the presence of nickel catalyst with
hydrogen gas at 200°c temperature , the JSLGT4 11 [oang L .
(A) THF : (B) SBR
(C) TNT (D) NBR
9, 1516 A5 s 1011 MARIee, g Brearanr wealad] <zl sami 204 8?
(A) Gleofld esifas 1R B)  dlas vl
(C) el sellRi »lRiles wilas (D) Soildl clebis 213
Which of the following organic acid’s molecular formula is determined by
silver salt method? -
(A) Benzene sulphonic acid (B)  Phthalic acid
(C) Mono chloro acetic acid (D) Dibromo Benzoic acid
10. YHIQL YUS YA delloraedt YUl 284l €25 dcdlel YRAIALAL e
galiag, e,
(A) esicuzl uHsL (B)  2ulg AUA U=
(C) 2IRUTR (D) drdlas v
Empirical formula does not indicate ..... of atoms of each element in the
molecule of compound.
(A) Percentage composition (B)  Simplest relative ration
(C) Ratio (D)  Actual numbers
11. PHIGL HAS Yo Vil 21 YA A2RAL AGAY
(A) 23y = UHISLYAS YA + 1
(B) g Yo = HUSLYUS YA +n
(C) 219, Yol = UHIRLYAS YA * n
(D) QL Yot = UHIQYL YUS Yol - n
RAN-1803000201030022-D ] [4] [ Contd.




Relation between empirical formula and molecular formula is .................. :

(A) Molecular formula = Empirical formula +n
| (B) Molecular formula = Empirical formula + n
(C) Molecular formula = Empirical formula x n
(D) Molecular formula = Empirical formula - n
R {2l Usl sun sroflas 2dulisred, 209 Yo [Gzgieq weald 93 sl seami =ud 97
L) e ®) Ao 3B
(C) Giwafle (D) Al
Which of the following organic compound’s molecular formula is determined
by explosion method?
(A) Butane (B) Benzoic acid
(C) Benzene (D) Naphthalene
13. Aelelle 23 dAlsun UeistisSoedl slovdlni eat =8 s2dl qodl «flusy ...
‘ (A) dlas AR (B)  alas vid e1fyes
(C) 1, 4 “Aratfsaeiq (D) oleatisds @il
The oxidation of naphthalene is carried out in the presence of vanadium
pentoxide with air, the product is ................. 3 g
" (A) Phthalic acid (B)  Phthalic anhydride
' (C) 1,4 Naphthaquinone (D) Benzoic acid
14, Vietleel] clad Azdugl W2 quRidL whusi ...
(A)  Audla a4 usdldls s (B) AdAlddld i defls 2l
(C)  usldly vias1fgis’s 21 cleoild (D) adls i{déi&kl&k lel Glrofld
Which reagents are used for Howarth synthesis of Anthracene?
(A) Naphthalene and Succinic anhydride
(B) Naphthalene and Phthalic anhydride
(€) Succinic anhydride and Benzene
(D) Phthalic anhydride and Benzene
=
bl RAN-1803000201030022-D ] [5] [PT.O.1&




15.
(A)
(©)

(A)-

©

16.
(A)
(©)

(A)
(©)

17.

(A)
(©)

(A)
©

18.
(A)
©)

(A)
©

(eteslleld, clifdad divicell elordlul ol 4% sl yadl «flusy ...

5 - o4l [zl (B) 3 - dil (geleslle
9 - oiidl fyaesllel ®) 7 - ol Gt

The bromination of Phenanthrene is carried out in the presence of iron with bro-
mine, the product is ......oceveeve. .

5- Bromo Penanthrene (B) 3-Bromo Phenanthrene
9- Bromo Phenanthrene (D) 7- Bromo Phenanthrene

{18 0g) sy, elisve usta Busila ol ?

PREERRIER @) Asles wikis
2182y wilas ) BauRs ik
Which of the following compound is optically inactive?
Crotonic acid (B) Lactic acid
Tartaric acid (D)  Glyceric acid

1505 B UYL B2ell VR sloi Lol 28e 97
4 By 2
1 D 3

How many gssymetric carbon atoms are present in the molecule of tartaric
acid?

4 @) 2
1 ®) 3

yusfngla wHasidi Amseml s Ba i Al gor wAl 21 ?

352 ®) kel
AN | D) [Raeiler

From which latin word symbol S has come in nomenclature of optically
active isomer?

Rectus (B)  Erythro

Zuzmen (D)  Sinsiter

RAN-1803000201030022-D [6] [C




19. Al [Hengidl old ulafoioflxdl (-d of I-) m@ s2adl (s ... 5¢ 8.
(A) [Adiuq B®) [aeifgior<lsre
| ©) [diet | O Eudksa
oro- { The process for separation of both enantiomers (d- & /-) from racemic
mixture 1s called as ................. )
(A) Elimination (B)  Dehydrogenation
(C) Resolution (D) Inversion
20. oggsloned, [Aldlre uReML HiuaL W2 ARl sl ) Wi qu 97
(A) uiarlHl: (B) dluiHlR
(C) 2usail> (D)  ulEuile:
Which of the following instruments is used to measure the specific rotation of
glucose?
(A) Polarimeter (B) PH meter
(C) Spectrometer , (D) Potentiometer
e B / SECTION - B
uasHls 21 4l 35 9, Rl 2 AA
Question No. 21 to 35, Each of 2 Mark
2. Al ulsumizl wadl «lusd A 244 B 2000 eididi,
- oY2q + 48 P 650°C (CHﬁf:S)gi: HNO,
(A) A = wRig B =2 . <lffel wuzid
(B) A = il B =2 . il «difz
(C) A =g B =2. <l f43-
D) A = il B =2 . »i[aia awdils
z £
td. £ RAN-1803000201030022-D | [7] [PTO. &




Identify the products A and B obtained from the following reaction.

(CH,C0),0 + HNO

650°C 3
_ L s A B
1 - Butane + 45 —3H, Nitration
(A) A=Pymole B = 2 . Nitro pyrrole
(B) A=Thiophene B =2 . Nitro Thiophene
(C) A=Furan B =2 . Nitro Furan
(D) A=Thiophene B =2 . Acety! Thiophene
2. AR oitrglM YA 2id TUPAC M o €.
T N = - =
(A) @ FRERIEY B) @ 249 ARdle
SN | SN
l | ~ e IR
© | . 2 2ol D) Qw. Hatled
H N
[UPAC name and structural formula of pyridine is ......
(A) @ and Azole (B) @ and Thiole
\N \N
1 i (& |
© U Jandazine D) Q and Azine
H N
23. D9l ubsiel wodl fuod A 244 B @il otettdll.
) A 6
s [zueed HlstAoH
whs AR 3L0 AT g0, &
o)
(A) A = Alas »ilus B = adlfge
®) A =giksums B =g
€ A =gRSs2ks B = 8RiA
(D) A = 4dds 21 B = uiRid
RAN-1803000201030022-D ] [81] [ Contd.
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(A)
(B)
©
D)

24.

(A)
(©

(A)
(©)

25.
(A)

(©

(A)
(©

RAN-1803000201030022-D ] [9] [PT.O. 1 &

Identify the product A and B obtained from the following reaction.

A
Dry distillation Sodalime
Mucic Acid 3H0 A—?OQ B
~CO,

A = Phthalic acid B = Thiophene:
A = Fumeric acid B = Furan
A = Furoic acid B = Furan

A = Maleic acid B = Pyrrole

10 Brdl a3y igistolad 33 Bel. villsasr ary e Ma sl [Brgled
Al U, ary seuius «oll 64 ugai ugdl dolliial afiavd s 28 [l
WH UKL, 2 AYMAG KOH <Al Hotol sl 218 21aeiMsL suf ugl doilui
8.0 [dl. ary cusl 2edl, dl 211 S1sgistolde 219 Yo ...........

CH , (B) CH,

4
CH D) CH,

47710

10 m.] gaseous hydrocarbon was exploded with 33 m.] oxygen in
eudiometer tube. After cooling the tube, the residual gas occupied 28 m.1.
After the absorption of residual gas mixture by strong solution of KOH,
the volume was further reduced to 8.0 m.1 what is the molecular formula
of hydrocarbon?

CH, (B) CH,
CHyg (D) CH,

wis [ililss cidodl 0.980 M, wlels seiRifs oMU 5l 0.3585 At
R tid, | 8. dl 2L oAl LYMR ...

132 (B) 128
182 O) 123

0.980 gm platinic chloride of a diacidic base gave 0.3585 gm platinum on
heating. The molecular weight of the base is...

132 (B) 128
182 (D) 123

0064



26. D15 stofells Ariloresd y2as29l s2al <ladal Rl urd Bl
stofe - 41.3%, AI586v — 5.35%, USaiore - 10.7% wid ueR - 24.4%,
cll UL AU, UHISL HAS YA v,
(A) CJH, NS0, ®) CJH, NSO,
(€ CH,N,}S,0, @) CH, NS0,
Following results are obtained on analysis of an organic compound.
Carbon — 41.3%, Hydrogen — 5.35%, Nitrogen — 10.7%, and sulphur — 24.4%.
Find out its empirical formula
(A) CH, NS0, (B) CH, NS0,
(C) CH_ NS0, (D) CH, NSO,
27. 30l ulsumizl] vadl dlusd A 214 B 29l
2 clelel SRS _[;1(;113(:1 A=H.p
(A) A =9, 10 - SMEISE wididld B = wiegizil-
B) A =9, 12 - sl 2l B = wietizild
©) A=9,10 - st fetetlled B = (o=l
D) A=09,12 - seISg [eietlld B = [eieeild
Identify the products A and B from the following reaction.
2 Benzyl Chloride _‘A;l?fb > A = 2H_ g
(A) A=09,10- Dihydro Anthracene B = Anthracene.
(B) A=9, 12— Dihydro Anthracene B = Anthracene
(C) A=9,10- Dihydro Phenantherne B = Phenanthrene
(D) A=9, 12— Dihydro Phenanthrene B = Phenanthrene
RAN-1803000201030022-D | [10] [ Contd. :
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28. OIHIRQI A, B 2t C W12 «dl2ier US| 5y, 2z 97

CH, CH,
| |
H-— C - Br Br— C H
| |
H— C - ( Cl —C - H
| l
CH, CH,
o (A) (B)
(A) A d B (Al uua25i 9. (B)
(C) B i C uldlaio{ll 9. (D)

CH,
|
H— C — Br
|
g — & —H
l
CH,
(o)

-

A ¥ C [Al&e BHu2sl 9.
A i C ulaloiofll 9.

Of the following which one is correct for the structure A, B and C ?

CH, cH, CH,
| ] l
H— C - Br Br — C- - H H— C- Br
| - N - |
H— C — Cl—C — H Cl—C -  H
l I |
CH, CH, cH,
(A) (B) (&)
(A) A and B are diastereomers. (B) Aand C are diastereomers
(C) B and C are enantiomers (D) " Aand C are enaritiomers
29. <l ulsamiel wadl {lusd A »id B 2ilowil.
Na, Cr,0, / H.SO
soleatla —A o2 g ¢
—2H, 241523914 |
(A) A= [seetilq B =28, 10 [s-uilsadid
(B) A= -yl B =9, 10 uictuliadid
(C) A= vicurild B = 8, 10 l-silsaeid
(D) A= [seetilq B=09, 10 [sduiliadiq
v
L - :
d.-& ¥ RAN-1803000201030022-D | [11] [ETO. 18




(A)
(B)
(©)
)

30.
(A)
(B)
©)
@)

(A)
(B)
©)
)

3l

(A)
©

Identify the products A and B from the following reaction.
Na, Cr,0. / HSO
Dibenzyl —A-—» A —— 27 2 %3
R 2H, Oxidation

A — Phenanthrene B =8, 10 Phenanthraquinone

A = Anthracene B =9, 10 Anthraquinone
A = Anthracene B = 8, 10 Anthraquinone

A = Phenanthrene B = 9, 10 Phenanthraquinone.

el 18] sul 20llorell B ot 7 Beu caid 97

5 il iR DR e 2 Beide -2 adgal iludifas iR
Aslzs DRs md 216Rs il

2 - Uedld w1 3 Bada 2 - &l

3 - @sgiell ey B w1 ety S

Which of the following compounds show E and Z configuration?

2 Amino Propionic acid and 2 — phenyl

Hydroxy Propionic acid

2 Pentene and 3 methyl 2 Heptene

3 Hydroxy Butanoic acid and Benzoic acid

A3l 2idloretell A R - S BediA e

CH,

|
Gl=— & —5&

|
cl— C —H

I
C2H5
2R3S (B) 2R3R

2838 (D) 283R

RAN-1803000201030022-D | [12]



(A)
(O

32.

(A)

©)

(A)

©

33.
(A)
(©

(A)
©)

34.

Correct R.S configuration of the following compound is....

(B)
(D)

2ZR3S 2R3R

2838 2S3R

[Pgu<ls RS Asradl R 2144l S (B dssl s2a1 w2 2iuiorqui (51 siold
19 eASIKEl YRHIGAL [ Y il AL 21AHAISH 5417 ‘

H>CH,0OH > COOH > OH (B)
D)
Which of the correct order of priority of atoms groups attached to the chiral

OH > COOH > CHon >H

COOH>CH,OH>O0OH>H CH,0H > COOH > OH > H

carbon of glyceric acid compound while assigning R or S configuration?
(B)
(D)

H > CH,0H > COOH > OH OH > COOH > CH,OH > H

COOH>CH,OH>OH>H CH,OH>COOH>0H>H

AlRedl Usl 5y dlove U519 UHB25AL i HA uH825dL 2ald 9.
(B)
(D)

Which of the following compounds will show optical isomerism and

aefluR1edletess 2 - oliHl ex24iefs wilRis

g5l 4 - el é50 — 4 - &

geometrical isomerism

Glyceraldehyde 2 Bromo butanoic acid

(B)

Glucose (D) 4 Nitro — hex — 4-ene

Al ulsumisdl Hadl <lusa A 214 B 21iavil oididl.

A Rssa1e
1, 3 ozisd + Sefldlld S50 A — S0

(A) A = sl 5ade B = Wisal dsvil
(B) A = usdl oy2 B = sl oydld
(C) A = Awrisal S5l B = Alsdl 5334
D) A = :usdl oydld B = Asel 62
RAN-1803000201030022-D ] [13 ] [ PT.O. ]
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(A)
(B)
(©)
(D)

35.

(A)
(B)
(©)
(D)

(A)
(B)
(©)
(D)

Identify the products A and B obtained from the following reaction.

1, 3 Butadience + Ethylene

A = cyclo hexane
A = ¢yclo butane
A = cyclo hexene

A = cyclo butene

A Reduction

200°C i + 2H E

B = cyclo hexene
B = Cyclo butene
B = cyclo hexane

B = cyclo butane

AlDdl ulunisdl Hadl <lusd A 24 B 20w oldigl.

ARY, VESAL
Kmno b

. Ni
Aeaflel + 3H, 50" A

A = sl dsode
A = ARisal dsld
A = usdl oyed
A = Hisdl oydle

5(0) P

B = My »iRs
B = »ifs(us Al
B = 2ol il
B = deias AR

Identify the products A and B obtained from the following reaction.

Hot alkaline
. Kmno
Ni 4
B ne
enzene+ 3H, ogec” N T 5(0) b

A = cyclo hexane
A = ¢yclo hexene
A = cyclo butane

A = cyclo butene

RAN-1803000201030022-D ]

B = Adipic acid
B = Adipic acid
B = Sebacic acid

B = Sebacic acid

[ 14]
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Time: 2 Hours | | [ Total Marks: 50

YA«ll : / Instructions

(1)

(1A salia @ Radlusl Boidl Gradl w2 2aw qudl. ") SeatNo.:
Fill up strictly the details of @ signs on your answer book

Name of the Examinaticn: ' ~\
- |First Year B.Sc. (Sem.ll) |

Name of the Subject :
= |Chemistry : Paper 1 4 e |

Subject Code No.: | 1803000202030021 | J \ Student’s Signature

\.

(2) Ul sHis-1 <l ofll oy Ul RAovaud ©,

(3) ov3r oruu cui uHlst 244 igld 2l

(4) orngil orioy<il 215 UL YU QL cafd 9.

(5) H=1, C12=, N=14, O=16, $=32, CI=35.5, Ag=108, Pt=195

1. AlA L Ur<lidl 25U1 oranst il 5
(1) o glagi cus@us 2ol 2.
(2) st usH B 2eiuldl R5R Yt U 97 A HR2?
(3) 72-5;(83@[?[ Rulsrel alba »ed 97
(4) CH, > A5 dusy 215K orguel.
(5) YPSlgL HIUGL HI2 QURLAL Hlbiede], w10 2AUNL
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s AT |\ Ty T——

2, Aldaumigl SiSuoL ABL oransL suul. ' 15

(1) vt a1fgisurss 214 Aullen sddsdl Fa giau a8 dsdl oglul
AU, VUL 6l GLaAgLd PH A4l 42+ 3ot Ao,

(2) el uHondl 244 Visdl direl.
(1) @kre aesdl
(2) deualssal
(3) sty 2105
(3) stelle usell vugli 200d] fl3ial 6 Aotsst uuoncl.
(1) uuaudl 2isiud
(2) ull B0,

(4) 300 K crusiq 0.1 M [Bgalactio siagidl 219344 60 »iicH 9. 0 Slueil
[ Yol @2Aq iz 215 A, in 21l yelldl donsS 219 uGous »iesid
1.4 AHL 214 0.85 2.4l €l dl [RP2 Aesdl 214 ded alssd e,

(5) 4.0 s (Sl iy 30° A i ndnfl w9 ulkadl @e dd
EOtlQL 215 Alclarg] g2 9] afl cul Yl sami 209 8. 211 usH B
w2yl H8R 21,

(R=8.314 JK*' mole’, He=4)

3. ellaiel nigl siSuol Aol sy vl 15
(1) un agpgasty 2slolvi d- sasld @eusye 25Bs dndtedl 18R A4od),
(2) d- sasidl 2U5R yHodl.
(3) 2les fiacie »12d §? 2528 doicued] you 2@LROUD 2L
(4) URruadl usalael Bicard sl auld,
(5) és<it @i,

(1) slebuslui Raar slimseedl GudloL.
(2) Rierel dia,

P0O357
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15 4. cdlamig] siSuoL AgLdi sraier i, 15
(1) CO >yl oitisHis 21 oislu gt 2iiedly s815 Al 2Rl AR AHOAL,
3 A ENCES
(2) @l 2w sl SN
. £ N\
(1) citisis 24 uldoieisiks 2l sasl. g UBR‘WV\EE
~ ) ) 3
(2) [Brais 214 2ialsr1s sasl, . Y
= = a ¢ [oie
(3) uadldl E=otidl uuonal. 21 il Hiysddl ML%QLGS‘M uefd qulal,
(4) URASR 2 Yrsaigl oid qRAAl 2doly gafad w51 Guondil,
(5) 25% cdwurid UWRisdRl Siedletd] addl 2id Yredigl vidsd 1.065 /. [&.
24 32.24 15e/A3. 8. RisdiRl 2ledladl T1si AQI. (UR1s€R] Siecld«dl
QMR = 126.5)
English Version
Instructions

1) As per the instruction no. 1 of page no. 1

2) All questions of No.1 are-Compulsory.

3) Give equations and figures wherever necessary.

4) Figures to the right indicate marks of the question.
5) H=1, C12=, N=14, O=16, 8=32, CI=35.5, Ag=108, Pt=195.

1Y)
2)
3)
4)
5)

1)

P0357

RAN-1903000202030021 | [3] [ PT.O.]

Answer the following questions in short (5)
Give characteristics properties of buffer solution.

During which process the change of entropy is zero? Why?

lWhat 18 crystal field stabilization energy?

Give the hybridization and shape in CH, molecule.

Give the name of an instrument to determine surface tension.

Give answers of any three of following: (15)

Explain buffer action by taking mixture of amonium hydroxide and amonium
chloride. Derive the equation of PH for this buffer solution.

P0357



2)

3)

4)

3)

1)

2)
3)
4)
5)

1)

2)

ACUNRRRET | Ty S

Explain terms and obtain units:

(i) Specific conductance

(i) Equivalent conductance

(111) Cell constant.

Describe following two steps of carnot cycle giving its diagram.
(i} Isothermal contraction

(i) Adiabatic expansion

The resistance of a 0.1 N electrolyte solution is 60 Ohm at 300k. The distance
between electrodes is one cm, and the length and width of electrode in the
cell are 1.4 cm and 0.85 c¢m respectively. Calculate specific conductivity and
equivalent conductance.

4.0 gram of helium are allowed to expand isothermally and reversibly from one
atmosphere to one-tenth of the original pressure at 30°c. Calculate the change in
entropy during this process.

(R=8.314 JK' mole™, He=4)

Give answers of any three of following: 1s)

Explain the splitting of d. orbital’s in tetrahedral complexes with the help of
crystal field theory.

Explain shapes of d-orbitals.

What is crystal field theory? Give the basic assumptions of crystal ficld theory.
Describe extraction of silver by pettinson process.

Write short note:

(i) Use of silver bromide in photography.

(i1) Electroplating of silver.

Give answers of any three of following: (15)

Explain bond order and magnetic property of Co molecule on the basis of
molecular orbital energy level diagram.

Give the differences:
(i) Bonding and antibonding molecular orbital’s.

(ii) Gerade and ungerade orbital’s.




w

P0357

3) Explain viscosity of liquid. Describe ostwal viscometer method for determining
this quantity.

4) Derive an equation to show the relationship between parachor and surface
tension.

5) The density and surface tension of parachloro toluene is 1.065 g/ml and
32.24 dyne/ cm at 25°c. calculate parachor of parachloro toluene.

(M.wt. of parachloro toluene = 126.5)

e~
\f)
Lt}
=
- ¥

RAN-1903000202030021 ] [5] [ 8940 ]
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AOENCRN
ime: S0
Time: 2 Hours | (é \ ;\
<i L/ ,
Y¥«ll : / Instructions il “BRag

G
) \:/)

- R .
<13 zalde @ Randlaml Bodl Grradl u? mas awdl. Seat No.:
Fill up strictly the details of @ signs on your answer book

Name of the Examination: s ~
- |F.Y.B.Sc. (Sem.-ll) |

Name of the Subject :
= |Organic Chemistry |

Subject Code No.: | 1903000202030022 |
\ : )

\_ Student’s Signature )

2) uas sHis—1 <l oifil o Ul Rlsvaid 8.

(

(3) orgR ovQuu el UHIRQL i, gl 21l
(4) orugil olisy«ll 2is Ul Y1 241 cald ©.
(

5) H=1,C=12,N=14,0=16,5=32,C1=35.5,Ag=108,Pt=195.
1. AlA AL UB<lieli E5H1 raLeL UL 5

(1) «ll2iedl ulsur yol A, dlusdel <y, 2l
C.H,+ CH,COC] 2. +

P ARiRelds TUPAC <M 2t oltrelly yat duil,

(2)

(3) weller Aq i asula da GereL 21l yuonal,

(4) ks wABIS R o5l Ueln 2EAIAA 2] sl 2URAS Geued A BT
(s)

sefansse Sured TUPAC «Aid A,

P0358
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(2)
(3)
(4)
(5)

(3)
(4)
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cAldaimigd] siSupl A1l sraney sl 15
ulid ulsuidl Baak unondl.

SN, Bl wwond.

¥ 2uesldd] wunlus adl Bl diou Gaieol 21 wusdl.

HAsZIHRS 21U 21 [@gAliRs 212 923l dsiad 24l

olecileiel] detlapda ulsaedl ulalk uwoad).

Aldenrnizl siSupl 2011 sraie Bul. 15

1, 3 o418 otettaqied] ol A 2l 1, 3 oy218i5etedl H,, HBr i+l Br, 18]
ulsadl 21,

viestdy daiisd Reigiddimdad diod Geieel il uuondl.

dladld, z2rild 2iq Bl seiiissd AGellsL 21 ] [FrusA«l Guaiot 24l

dAetell 218 2tis w12d 47 daedl 2Ris vlis sl el a qufl.
erRISeedl 2u0p520124i8 sl s2tiell Aa A0 2k agldl.

dlaumizl 5w AL ey sl 15

YRR 530 5 ogsion

(i) Wi Y5l -OH Ay,

(i) — CHOH ¥g.

(iii) &9 stolddl w0 guiay Yy 8.

steli1fRe 2128 47 g52los W HNO, 214 HON Ufsusill »1ar 44l

34510 el gslovell 48 usal Gttt 15308let 2idell bkl 200l

“dlRdettetl citiRiglla Yol 240l

(1) 5 - Maga - dso ~1-Hei-3- iiel.

(2) 4 ~ 155l -4 USSL -1~ UedeiltSs 21 (s

(3) 4 - Reuda 2- dea1S.

(4) 2 - s1s5gisdl Ulie
)

(5) 5 - efgisdl -3- 0l Es-1,4 SIEd.
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(5) «llRidiell TUPAC «lI¥ 2L

() CH;—C—CH,—CH,~COOH _Cnc; .
[ (7

0 (=
(i) CH,— CH—C=CH a‘-\\"’

S\
I

CH,

(iii) CH; — CH— CH,— CH, — CHO

|
Cl

(iv) CH;,—-CH=CH-CH—-C=CH,
|
CH, CH,

|
NH,

English Version

Instructions

1. All questions of No. 1 are compulsory.

2. Give equations and figures wherever necessary.

3. Figures to the right indicate marks of the question.

4. H=1,C=12,N=14,0=16,5=32,C1=35.5,Ag=108,Pt=195.

1. Give answer the following question in short:

(1) Complete the following reaction. Give name of the products.

CeH,+ CH,COCl 25, +

(2) Give the IUPAC name and structural formula of meth>l acetylene.
(3) Explain animal oil and vegitable oil with suitable examples.

(4) Strong oxidation of glucose by nitric acid, which acid is obtained?

(5) Give IUPAC name of dimethy! ether.

RAN-1903000202030022 ] [3]
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(D
)
3)

)
(3)

(D

2
)

Q)

(5)

(1

@
3)
4

T RO N [Ty Y,

Give answer any three of the following: 15
Explain the mechanism of Perkin’s reaction.
Explain reaction mechanism of SN,.

Explain with suitable illustration the mechanism of reaction between
asymmetric alkene and symmetric reagent.

Distinguish between electromeric effect and inductive effect.

Explain the mechanism of halogenation of benzene.

Give answer any three of following: 15

Give two methods of preparation of 1, 3 Butadience .Give reactions of 1, 3
butadience with H,, HBr and Brz.

Explain dehydrohalogenation of alkyl halide with suitable illustration.

Give polymerization of ethylene, styrene and vinyl chloride and give uses of
products obtained.

What is acid value of an oil. Describe the method of determination of acid value
of an oil.

Describe with caiculation the method of determining saponification value of
glycerides.

Give answer any three of the following: 15
Prove that glucose contain:

a) Five free OH groups

b) __ CH,OH group

¢) Straight chain of six carbon atoms.

What are carbohydrates? Discuss the effect of HNO, and HCN on fructose.
Give reaction of glucose and fructose with excess of phenyl hydrazine.
Give structural formula of the following.

a) S-methyl-hex-l-ene-3-one

b) 4-Hydroxy-4 nitro-l- pentanoic acid

c) 4 methyl 2-pentyne

d) 2 hydroxy propane

e) S5-hydroxy-3 nitro-hex-1,4-diene

RAN-1903000202030022 ] [4] [ Contd.
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5. Give IUPAC name of the following:

I JCQENCEN
O ’; L?ff s‘\ Fj&
(i) CH,—~CH-C=CH f:_'( LigRaps 1
Il \®\
CH, o,
i SA ) P

(iii) CH; — CH—- CH, — CH, — CHO

|
Cl

(iv) CH;— CH=CH~ CH - C= CH,

|
CH, CH,

(v) CH;—CH,— CH- CH, - COOH

|
NH,

00
7]
5]
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